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SECTION -1

Attempt any three of the following questions.

1.

8.

What is managerial economics ? Explain its nature and scope. 14
Write elaborate note on the responsibilities of a manager. 14
Give the role of an economist in the decision making process. 14

Explain the process of decision making in a firm with the help of the concept of

marginalism. 14

Explain the concept of Demand function and discuss the basic factors influencing level

of demand. 14
Discuss the meaning and types of income elasticity of demand. 14
Discuss any two of the methods of Demand forecasting. 14
Discuss the methods of forecasting demand of a new product. 14
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SECTION - 11

9.  Fill in the blanks by choosing the correct option : (any four)

1.

JK-118

The objective of a firm is to minimize . (profit, cost)

Managerial economics does not have any relation with accounting. (True/False)

The next best alternative that needs to be foregone by the firm is known as

cost. (opportunity, marginal)

The liability of an individual owner in sole proprietorship firm is . (limited,
unlimited)
Demand for a good when income of the consumers increases. (decrease,
increases)

Law of demand is conditional. (True/False)

Market experiment method of demand forecasting is compared to trend

projection method. (more, less)

How many types are there of demand forecasting ? (3, 5)
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SECTION -1

Attempt any three of the following questions.

1.  What is region ? What are the indicators of regional development ?

2. Explain the profile of Gujarat in the background of Indian Economy.

3. Rural — Urban population, population density and literacy ratio in Gujarat.

4.  Explain the causes and effects of urbanization in Gujarat.

5. Explain the main characteristics of agriculture in Gujarat.

6.  Write a note on ‘Sardar sarovar’ project.

7. Examine the structural changes in the industrial sector in Gujarat after 1960.

8.  Discuss diamond industry in Gujarat and its problems.
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SECTION - 11

9.  Fill in the blanks by choosing the correct option. (any four)

1.
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The total area of Gujarat is square km. (248044, 196024)

The number of districts in Gujarat. (29, 33)

The most populous district in Gujarat is Surat. (True, False)

district has the lowest literacy rate in Gujarat. (Dahod, Dang)

River Narmada is miles long. (925, 815)

is a modern method of irrigation. (Drip Irrigation, Tube well)

The administration of public sector unit is of types. (three, four)

The highest textile industries is in of Gujarat. (Rajkot, Ahmedabad)



